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41563 [104% B SRR GEFTE HY (BETIEARL) 7R11H - L

41564  [501% Egs NEFH HY (BETIEAWL) 7A12H HY Eyan=|

41565 |604% og SRR GEFTE HY (BETIEARL) 7R12H - NR— b & A <—
41566 |10m A |H1E by HY (BETIEAWL) 7128 - L

41567 |604% og S SRR E HY (BETIEARL) 7R12H HY L

41568 |10 A &t AR HY (BETIEAEW) 7H11H HY (B - REMEKL60) 7L

41569 |10m%KiH |B1E ER® HY (BETIEARL) 7R12H HY (BB - RBEMERL60) L

41570 |104% 7k EIR™ HY (BETIEAWL) 7R 8H HY 3L

41571 |404% 7 R HY (BFETIEAL) 78128 &HY) BilZNi3=]
41572 |104% 7k by HY (BETIEAWL) 78128 HY) 5L

41573 |104% og KT HY (BETIEARL) 7R12H HY L

41574 |504% 7k by HY (BETIEAWL) 7A13H - E=yan=|

41575 [70£% ik BRREMEN HY (BETIEAWL) 7A11H HY L

41576 [30f% 7k BRREMERN HY (BETIEAWL) 7A10H HY SilzN:g=]
41577 |104% og SR AT HY (BETEARL) 7R13H - L

41578 |201% S EIR™ HY (BETIEAWL) 7A10H HY SilzN:g=]
41579  |604% Bk KT HY (BETIEARL) 7R10H HY L
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41580 |704% 7k BRREMERN HY (BETIEAWL) 7A14H HY (SEHEMBRST) 5L
41581 [704% B S R RGEFTE HY (BETEARL) 7R13H HY (BHEHEXST) AL
41582  |40f% S BRREMERN HY (BETIEAWL) 7A5H HY) Eyan=|
41583 [801% og S R RGEFTE HY (BETIEARL) 7R15H HY L
41584 [501% pog BRRBEIEN HY (BETIEARL) 7A138 HY EilzN:3s]
41585 |304% 7 R HY (BFETIEAL) 78128 &HY) mL
41586 |10m A |Z1E EIR™ HY (BETIEAWL) 7A13H HY) 5L
41587 |404% B ER® HY (BETIEARL) 7R14H Y SHEE
41588 [501% Sk R FRER 7H13H »HY E=yan—|
41589 [504% og SRR GEFTE HY (BETEARL) 7R12H HY (SiEHEREL) N—h&A<—
41590 [504% B BRRBEIEN FEAEIR 7A138 HY HEZ
41591 [204% Bk KT HY (BETIEARL) 7R12H HY L
41592 |704% 7k BREREMEN HY (BETIEAWL) 7128 - L
41593  [504% og S R RGEFTE HY (BETIEARL) 7R12H - NR— b & A <—
41594  [30f% S by HY (BETIEAWL) 7A12H - Eyan=|
41595 |404% B ER® HY (BETIEARL) 7R13H Y E=van=|
41596  |401% 7k EIR™ HY (BETIEAWL) 7A12H HY Eyan=|
41597 [304% pog SRR GEFTE HY (BETIEARL) 7R11H HY (BB - REMERL60) TILNA b
41598 |10 K Bt BRREFTERN HY (BETIEAEW) 7H12H HY (B - REMEKL60) 7L
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41599 |10/ K7 Bt ER HY (BETIEAEW) 7H13H HY (B - REMEKL60) 7L
41600 [304% B ER® HY (BETEARL) 7TA128 Y NS
41601 |10mAH |B1E EIR™ HY (BETIEAWL) 7A13H - L
41602 |604% og S R RGEFTE HY (BETIEARL) 7R12H Y TILNA b
41603 [60f% S EIR™ HY (BETIEAWL) 7A13H HY Eyan=|
41604 |10m%KiH | B KT HY (BETIEARWL) 7R14H - L
41605 |201% 7k by HY (BETIEAWL) 7A13H - E=yan=|
41606 |10F%RiH |t NIEFH HY (BETIEARL) 7R14H - L
41607 |10m A |B1E NEFH HY (BETIEAWL) 7148 - L
41608 [104% Bk KT HY (BETEARL) 7R13H HY L
41609 |601% B BRRBEIEN HY (BETIEARL) 7A138 - BE¥
41610 |10m%kis |B1E ER® HY (BETIEARL) 7R14H HY L
41611 |30f% 7k BREREMEN HY (BETIEAWL) 7A12H HY Eyan=|
41612 |404% B S R RGEFTE HY (BETIEARL) 7R10H Y BEZ
41613 |10m A0 |Z1E by HY (BETIEAWL) 7R9H - L
41614 [204% og S R RGEFTE HY (BETIEARL) 7R13H HY (BB - REMERL6E0) BileS:a=]
41615 [30f% 7k EIR™ HY (BETIEAWL) 7A11H - Eyan=|
41616 |604% St =R HY (BETIEAWL) 78148 - SilZNi3=]
41617 |40% 7k BREREMEN HY (BETIEAWL) 7148 HY) A
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41618 [60f% 7k =RET HY (BETIEAWL) 7HA14H HY Eyan=|
41619 |10mki | B S SRR E HY (BETEARL) 7R 148 - L
41620 |10k |ZiE BRREFTERN HY (BETIEAEW) 7TH14H HY (B - REMEXL56) 7L
41621 |604% Bk NIEFH HY (BETIEARL) 7R13H HY NR— b & A< —
41622 |401% S EIR™ HY (BETIEAWL) 7A13H HY) 5L
41623 |404% B ER® HY (BETIEARL) 7R13H - E=van=|
41624 |10m A |Z1E EIR™ HY (BETIEAWL) 7A13H - L
41625 [104% B ER® HY (BETIEARL) 7R12H - L
41626 [501% S EIR™ HY (BETIEAWL) 7A13H HY Eyan=|
41627 |404% og ER® HY (BETEARL) 7R13H ) E=vad=|
41628 |70% S EIR™ HY (BETIEAWL) 7A13H - E=yan=|
41629 |404% Bk KT HY (BETIEARL) 7R12H - E=van=|
41630 |201% 7k BREREMEN HY (BETIEAWL) 7A12H - E=yan=|
41631 [204% B EFHET HY (BETIEARL) 7R13H - E=van=|
41632 |104% 7k ft&m HY (BETIEAWL) 78108 - L
41633 |604% Bt & | il HY (BETIEARL) 7R12H Y E=van=|
41634 |201% 7k ft&m HY (BETIEAWL) 7A12H »HY (EEMmEK21) SilzN: 7=
41635 |301% S =E HY (BETIEAWL) 7TH12H »l) =ft8
41636 |101% 7 s HY (BETIEAWL) 7A11H HY) 5L
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41637 |10m A0 |B1E ft&m HY (BETIEAWL) 7A11H HY) 5L
41638 |401% og fe&m HY (BETEARL) 7R11H - NR— b & A <—
41639 |30f% St f£5H HY (BETIEAWL) 7A11H »HY (B3%82) 2t 8
41640 [104% otk ks HY (BETIEARL) 7R12H HY L
41641 |104% 7k ft&m HY (BETIEAWL) 7R9H HY 3L
41642 |201% St B4 (b k) HY (BFETIEAL) 7TH12H »Hl) =ft8
41643 |104% SE =BT HY (BETIEAWL) 7R9H - L
41644 4048 7 HEMRIEFTEN HY (BETEEW) THTH HY) E=gan=|
41645 |104% 7k HEREFTE N HY (BETIEAWL) 7R 8H HY) 3L
41646 |601% B FaR0E By HY (BETIEARL) 7R12H HY NR— b &AL <—
41647 |501% S HEREFTE N HY (BETIEAWL) 7A10H - E=yan=|
41648 |404% S L&Em HY (BETEEW) 7H12H - SifzNiEg=]
41649 |401% S ft&m HY (BETIEAWL) 7A12H - E=yan=|
41650 [204% Bt & | il HY (BETIEARL) 7R12H - E=van=|
41651 [30f% S HEREFTE N HY (BETIEAWL) 7A10H HY Eyan=|
41652 |10/ |Z1E HEMRIEFTEN HY (BETEEW) 7H10H HY 3L
41653 |10f% i s HY (BETIEAWL) 7A11H - L
41654 |404% otk ks HY (BETIEARL) 7R10H HY NR— b &AL <—
41655 |601% i HEREFTE N HY (BETIEAEW) 7H12H HY %L
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41656 |10m A |Z1E =BT HY (BETIEAWL) 7A11H HY) 5L
41657 |104% otk EIFH HY (BETEARL) 7R11H Y E=vad=|
41658 [501% g S|t HY (BETIEARL) 7R12AH - BE¥
41659 [204% og fe&m HY (BETIEARL) 7R12H - L
41660 |701% S ft&m HY (BETIEAWL) 7A12H - BEx
41661 |10/ |Z 1% HEMRIEFTEN HY (BETEEW) 7H12H - 5L
41662 [40% St 24 (Gt L) HY (BETIEAWL) 7128 - 218
41663 |704% S HEMRIEFTEN HY (BETEEW) 7H10H HY 3L
41664 |201% SE s HY (BETIEAWL) 7A12H - E=yan=|
41665 |401% 7 HEMRIEFTEN HY (BETEEW) 7H11H HY) E=gan=|
41666 |201% 7k ft&m HY (BETIEAWL) 7A11H - Sz =]
41667 |204% S HEMRIEFTEN HY (BETEEW) 7H12H - 5L
41668 |101% SE s HY (BETIEAWL) 7A11H - E=yan=|
41669 |204% S HEMRIEFTEN HY (BETEEW) 7H12H - E=gan=|
41670 |401% S HEREFTE N HY (BETIEAWL) 7A12H - 2N
41671 |604% Bt & | il HY (BETIEARL) 7R12H - E=van=|
41672 |20% S ft&m HY (BETIEAWL) 7A11H HY Eyan=|
41673 |304% S =W HY (BETIEAWL) 78128 - N 3=
41674 |204% S ft&m HY (BETIEAWL) 7A13H - E=yan=|
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41675 |10m A |Z1E HEREFTE N HY (BETIEAEWL) 7128 - L
41676 |10F%RiH |2t ks HY (BETEARL) 7R12H HY L
41677 |104% SE s HY (BETIEAWL) 7A13H HY) 5L
41678 |304% 24 vt HY (BFETIEAL) 78128 &HY) BilzNia=]
41679 |404% S ft&m HY (BETIEAWL) 7A12H HY BEx
41680 |404% og R ER R B HY (BETIEARL) 7R10H - NR— b & A <—
41681 |401% S HEREFTE N HY (BETIEAWL) 7A12H - BEX
41682 |501% B ft&m HY (BETIEARL) 7R13H - E=van=|
41683 [30f% 7 s HY (BETIEAWL) 7A7H HY Eyan=|
41684 |10mki | B = | il HY (BETEARL) 7TRTH Y L
41685 [301% g S|t HY (BETIEARL) 7R128 HY £Ht8
41686 |401% otk ks HY (BETIEARL) 7R11H Y BEZ
41687 |401% SE s HY (BETIEAWL) 7A13H HY BEx
41688 |401% otk R=EFH HY (BETIEARL) 7R11H Y BileS:a=]
41689 |10m A |Z1E =BT HY (BETIEAWL) 7A11H HY) L
41690 [704% otk R=EFH HY (BETIEARL) 7R11H HY L
41691 |604% g EEFH HY (BEETIEAW) 7R12AH ) NR— k& <—
41692 [204% pog R ER R T E HY (BETIEARL) 7R11H - E=vag=|
41693  |40% SE s HY (BETIEAWL) 7A13H HY Eyan=|
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41694 |704% 7k HEREFTE N HY (BETIEAWL) 7TR9H - L
41695 [204% B R ER (R B HY (BETEARL) 7R12H Y E=vad=|
41696 |401% SE s HY (BETIEAWL) 7A12H HY Eyan=|
41697 |404% B ft&m HY (BETIEARL) 7R11H HY (Bii582) E=van=|
41698 |10m A |H1E =B HY (BETIEAWL) 7128 HY) 5L
41699 [104% Bt & | il HY (BETIEARL) 7R12H HY L
41700 |204% SE s HY (BETIEAWL) 7A12H - E=yan=|
41701 [804% og ft&m SRR 7R13H HY (EEMHEHR21) #L
41702 |80f% S ft&m HY (BETIEAWL) 7A12H »HY (EEMmEEK21) 5L
41703 [504% og R R R T E HY (BETEARL) 7R13H HY (EEMHEHR21) BileS:a=]
41704 |80f% 7k ft&m HY (BETIEAWL) 7A11H »HY (EEMmEK21) 5L
41705 |404% otk ks HY (BETIEARL) 7R12H - NR— b & A <—
41706 [50f% SE s HY (BETIEAWL) 7A12H - E=yan=|
41707 |304% 24 vt HY (BETIEAEL) 78128 - E=gan=|
41708 |40f% SE s HY (BETIEAWL) 7A10H - Eyan=|
41709 [204% og ft&m SRR 7R13H HY (EEMHEHR21) BileS:a=]
41710 |204% 7k ft&m HY (BETIEAWL) 7A12H »HY (EEMmEK21) SilzN: 7=
41711 [204% pog e HY (BETIEARL) 7R12H HY (EEMHEHR21) BileS:a=]
41712 [40F% 7k ft&m HY (BETIEAWL) 7A13H »HY (EEMmEK21) SilzN: =]
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41713 |40F% 7 =BT HY (BETIEAWL) 7A13H HY BilzN: =]
41714 |404% Bt = | il HY (BETEARL) 7R12H - E=zan=|
41715 |10m A0 |Z % =BT HY (BETIEAWL) 7128 HY) 5L
41716  |404% otk ks HY (BETIEARL) 7R11H - NR— b & A <—
41717 |10 A0 |B1E =BT HY (BETIEAWL) 7A13H HY) 5L
41718 |404% B R ER R B HY (BETIEARL) 7R12H Y E=van=|
41719 |104% 7 s HY (BETIEAWL) 78128 - L
41720 |404% Bk R=EFH HY (BETIEARL) 7R13H - E=van=|
41721 |404% g EBH HY (BEETIEAWL) 7R13H ) AL
41722 [204% B R R R T E HY (BETEARL) 7R11H ) E=vad=|
41723 |10m A0 |B1E ft&m HY (BETIEAWL) 7A13H HY) 5L
41724 |504% og R ER R T B HY (BETIEARL) 7R13H - E=van=|
41725 |204% S ft&m HY (BETIEAWL) 7A11H - E=yan=|
41726 |104% B R ER R T B HY (BETIEARL) 7R13H - L
41727 [10£% SE s HY (BETIEAWL) 7128 HY) L
41728 [204% otk ks HY (BETIEARL) 7R12H - E=van=|
41729 |304% SE s HY (BETIEAWL) 7A12H - Eyan=|
41730 |404% B kLt HY (BETIEAWL) 78128 - N 3=
41731  |40F% 7k ft&m HY (BETIEAWL) 7A11H HY Eyan=|
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41732  [40F% oy BT HY (BETIEAWL) 78128 HY (F®161) BileNEd=]
41733 [304% Bk &7 I E] HY (BETEARL) 7R12H HY (F#164) SHE
41734 |304% 7k & /7 I ET HY (BETIEAWL) 7A10H HY (F164) 7L
41735 |304% 24 &7 I HT HY (BFETIEAL) 78128 HY (F164) N 3=
41736 [10f% S BN HY (BETIEAWL) 7A12H HY (F#156) 7L
41737 |304% 7 BN HY (BETEEW) 7H11H HY (FH161) Egad=|
41738 |10m A0 |Z1E BN HY (BETIEAWL) 7128 HY) 5L
41739 |10F%R |t B HY (BETIEARL) 7R12H HY (F#161) B L
41740 |10m A |B1E BN HY (BETIEAWL) 7A13H HY) 5L
41741 |304% Bt BN HY (BETEEW) 7H12H HY (FH161) Egad=|
41742 |10m A (2% BN HY (BETIEAWL) 7A13H HY) 5L
41743 |104% Bk &7 I E] HY (BETIEARL) 7R12H HY (F1#162) B L
41744 |10 A (2% BN HY (BETIEAWL) 7128 HY) 5L
41745  |404% St BINREPTEN HY (BETEEW) 7H12H HY) SifzNi9=]
41746 [40F% oy BRINREEFTE N HY (BETIEAWL) 7128 HY (F#162) BilzNEd=]
41747 (1070 |2 &7 I HT HY (BETIEAEL) 7H10H HY (F164) 7% L
41748 |304% 7k BN HY (BETIEAWL) 7A12H HY Eyan=|
41749 |304% St BN HY (BETEEW) 7H12H HY) E=gan=|
41750 |10mAH |Z1E BN HY (BETIEAWL) 7A12H HY (F#165) 7L

- 10 -
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41751 |30f% 7k BN HY (BETIEAWL) 7A12H HY Eyan=|
41752 |404% Bt BN HY (BETEEW) 7H12H HY (FH156) Egad=|
41753 [10f% 7k BN HY (BETIEAWL) 7A7H HY (F#165) 7L
41754 |204% St BN HY (BETEEW) 7H12H HY) E=gan=|
41755 |10m A0 |B1E BN HY (BETIEAWL) 7A13H - L
41756 |104% B B HY (BETIEARL) 7R12H HY (F#156) B L
41757 |304% 7k BN HY (BETIEAWL) 78128 HY) 5L
41758 [104% B B HY (BETIEARL) 7R12H HY (F#161) B L
41759  |40F% 7k BN HY (BETIEAWL) 7A12H HY (F#%160) 218
41760 |10F%RiH |2t B HY (BETEARL) 7R13H HY (F#165) L
41761 |104% S BN HY (BETIEAWL) 7A13H HY (F#156) 7L
41762 |10m A | B BN HY (BETIEAL) 7H9H H'Y) (FH156) 7L
41763  |40% 7k BN HY (BETIEAWL) 7A13H HY BEx
41764 |404% St BN HY (BETEEW) 7H13H HY) BEX
41765 [10f% 7k BN HY (BETIEAWL) 7A13H HY (F#165) 7L
41766 |404% St BN HY (BETEEW) 7H11H HY) (F#156) BEX
41767 |201% S & /7 I ET HY (BETIEAWL) 7A13H HY Eyan=|
41768 |704% 7 BN HY (BETIEAWL) 7813H &HY) mL
41769 [40£% St & I ET HY (BETIEAWL) 7A13H HY (F#162) BileNEd=]

- 11 -
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41770 [10f% S & /7 I ET HY (BETIEAWL) 7A13H HY (F#162) 7L

41771 |704% Bt BN HY (BETIEAEWL) 7813H &HY) 7w L

41772 |604% 7k BN HY (BETIEAWL) 7A13H HY) 5L

41773 |504% B B HY (BETIEARL) 7R13H Y BEZ

41774 [40F% 7k BN HY (BETIEAWL) 7A13H HY BEx

41775 |10k | &M =W HY (BETIEAWL) 7A13H HY L

41776 |604% Eeg s BN HlY) (BETIEHRW) 7H12H o) NWN—hRA~7—
41777 [10£% St BN HY (BETIEAWL) 78148 HY (F#156) L

41778 |104% S BN HY (BETIEAWL) 7A13H HY) 5L

41779 |404% og B HY (BETEARL) 7R12H - E=zan=|

41780 [30f% S BN HY (BETIEAWL) 7A13H HY (F#%160) 218

41781 [204% B B HY (BETIEARL) 7R13H Y E=van=|

41782 |30% S BN HY (BETIEAWL) 7HA14H HY Eyan=|

41783  [304% og B HY (BETIEARL) 7R13H HY (F#160) B L

41784 |104% S BN HY (BETIEAWL) 7148 HY) L

41785 |10m%kiH |BIE B HY (BETIEARL) 7R13H HY (F#160) B L

41786 [30f% S BN HY (BETIEAWL) 7HA14H HY Eyan=|

41787 |404% pog B HY (BETIEARL) 7R13H HY (F#165) BEZ

41788 |10m A |B1E BN HY (BETIEAWL) 7A14H HY (F#165) 7L

- 12 -
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41789 |401% S BN HY (BETIEAWL) 7A12H HY (F#165) BEX
41790 [304% B B HY (BETEARL) 7R13H Y E=vad=|
41791 |504% S BN HY (BETIEAWL) 7A10H HY (F#%160) 218
41792 [304% og B HY (BETIEARL) 7R11H Y E=van=|
41793 |204% S BN HY (BETIEAWL) 7A12H HY Eyan=|
41794 |104% B B HY (BETIEARL) 7R13H - L
41795 |40% 7k BN HY (BETIEAWL) 7R 8H - E=yan=|
41796 |104% og B HY (BETIEARL) 7TH9H HY (F#160) B L
41797 |304% S BN HY (BETIEAWL) 7R9H HY Eyan=|
41798 [204% og B HY (BETEARL) 7R13H - BE3
41799 |204% S BN HY (BETIEAWL) 7R 8H HY Eyan=|
41800 [304% B B HY (BETIEARL) 7R12H - E=van=|
41801 |10mA0H |ZE BN HY (BETIEAWL) 7A14H HY (F#%160) 7L
41802 [104% og B HY (BETIEARL) 7R13H Y E=van=|
41803 |401% 7k BN HY (BETIEAWL) 7A13H HY Eyan=|
41804 |204% St BN HY (BETIEAEL) 7813H - N 3=
41805 |10m A |H1E BN HY (BETIEAWL) 7148 HY) L
41806 [304% pog B HY (BETIEARL) 7R13H HY (F#156) NR— & A <—
41807 [50f% 7k BN HY (BETIEAWL) 7A13H HY BilzN: =]

- 13-
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41808 |601% pog B HY (BETIEARL) 7R12AH - AL
41809 [304% Bk &7 I E] HY (BETEARL) 7R13H - E=zan=|
41810 |10f% 7k & /7 I ET HY (BETIEAWL) 7A13H HY (F1164) 7L
41811 [104% Bk &7 I E] HY (BETIEARL) 7R13H HY (F#164) B L
41812 |10m A0 %1% & /7 I ET HY (BETIEAWL) 7A13H HY (F1164) 7L
41813 |604% B B HY (BETIEARL) 7TH9H HY (F#160) B L
41814 |201% 7k BN HY (BETIEAWL) 7A13H HY BilzN: =]
41815 [304% og BN REERTE HY (BETIEARL) 7R11H Y FEnFK
41816 |10m A |Z1E BN HY (BETIEAWL) 7148 HY) 5L
41817 |404% 24 &7 T HY (BETIEAEWL) 7813H HY (F164) N 3=
41818 |201% 7k BN REEFTE A HY (BETIEAWL) 7A13H HY) 5L
41819 [304% og B HY (BETIEARL) 7R13H Y E=van=|
41820 [60f% S BN REEFTE A HY (BETIEAWL) 78108 - L
41821 [304% B B HY (BETIEARL) 7R13H Y E=van=|
41822 |104% S BN HY (BETIEAWL) 7A13H HY (F#160) 7L
41823 [104% og BN REERTE HY (BETIEARL) 7R13H HY L
41824 |10m A (2% BN HY (BETIEAWL) 7A13H HY) L
41825 |10m%ki |B1E B ) HY (BETIEARL) 7R13H HY L
41826 |10mAH |ZE BN HY (BETIEAWL) 7A13H HY) 5L
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41827 |10m A (B BN HY (BETIEAWL) 7A13H HY) 5L

41828 [104% Bk &7 I E] HY (BETEARL) 7R12H HY (F1#162) L

41829 [104% B BN REEFTE P HY (EETIEARWL) 7R128 HlY) (F1162) L

41830 |404% Bk &7 I E] HY (BETIEARL) 7R12H HY (F#164) SHE

41831 |40f% 7k & /7 I ET HY (BETIEAWL) 7A12H HY (F1164) 218

41832 |10m%Ri |2t &7 I E] HY (BETIEARL) 7R12H HY (F#164) B L

41833 [50f% 7k —Eh HY (BETIEAWL) 7A13H - BEX

41834 |604% B —BHREFTE M HY (BETIEARL) 7R13H Y E=van=|

41835 |201% 7k —Eh HY (BETIEAWL) 7R 8H HY A
41836 [501% B —Bgmh HY (BETEARL) 7R12H ) E=vad=|

41837 [30f% S —BIm IR 7R 14H HY Eyan=|

41838 [204% B B4 (—BREAEM) HY (BETEARWL) 7R12H - E=van=|

41839 (301X i —Bm HY (BETIEAEW) 7H13H HY (HE - RENEKLE8) E=yan—|

41840 |404% B —Bgmh SRR 7R14H ) E=vad=|

41841 |80f% S —Eh HY (BETIEAWL) 7128 - L

41842 |10m%Ri |2t —Bah HY (BETIEARL) 7R13H HY L

41843 |10m A |Z1E —BREFFEA HY (BETIEAWL) 7A13H HY) 5L

41844 |10m%KH |2t —Bah HY (BETIEARL) 7R 14H HY L

41845 |10m%KiH | B4 —Bh HY (BETIEARL) 7A108 HY (BB - REMHEHL58) L
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41846 [60f% 7k —BREFFEA HY (BETIEAWL) 7A13H - L
41847 |404% B —Bgmh SRR 7R 14H ) BEZ
41848 |10m%KiH | B —BREFTE M HY (BETIEARL) 7R128 HY (BB - REMHEHKL58) L
41849 [804% og —Bah HY (BETIEARL) 7R12H HY L
41850 [501% pog —Bh HY (BETIEARL) 7R12AH ) NR— k& <—
41851 [204% B —Bgmh HY (BETIEARL) 7R13H Y E=van=|
41852 [30f% 7k —BREFFEA HY (BETIEAWL) 7A14H HY BilzN: =]
41853 |404% B BERI = ET HY (BETIEARL) 7R13H - BileS:a=]
41854 |104% S RARET HY (BETIEAWL) 7A13H - E=yan=|
41855 [704% B K ERETE N HY (BETEARL) 7R12H - L
41856 |701% 7k KAEREFTE RN HY (BETIEAWL) 7A13H - L
41857 [304% B BERI = ET HY (BETIEARL) 7R12H Y FEnFK
41858 [304% g BRI ET HY (BETIEARL) 7R128 HY ELN S
41859 [104% og BERT = E T HY (BETIEARL) 7R12H HY L
41860 [801% Bk BRI ET HY (BETIEARL) 7R12AH HY AL
41861 |704% og BERI = ET SRR 7R14H ) E=vad=|
41862 [601% S KB REFTERN HY (BETIEAWL) 7A13H HY Eyan=|
41863 |401% B BERI = ET HY (BETIEARL) 7R 14H Y E=vad=|
41864 |40% 7k ERRBAEN HY (BETIEAWL) 7A11H HY (HF - REMEKLL9) BilzN: 9=
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41865 (301X Sk EAREFEN HY (BETIEAEW) 7H13H HY (B - REMEKLL9) E=yan—|
41866 [301% og ZRREREN HY (BETEARL) 7R12H HY (BB - REMERI) L
41867 |10f% 7k ERRBAEN HY (BETIEAWL) 7A13H HY (HF - REMEKLL9) %L
41868 |10m%RiH |t ZRREREN HY (BETIEARL) 7R13H HY (HE - RBEMERILI) L
41869 |10 & |ZiE ERREFEN HY (BETIEAEW) 7H13H HY (B - REMEKLL9) 7L
41870 |404% Bk ZRREFEN HY (BETIEARL) 7R12H HY (BB - REMERLI) SHE
41871 |40% 7k ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) BilzN: 9=
41872 |10m%Ri |t ZRREREN HY (BETIEARL) 7R13H HY (HE - RBEMERILI) L
41873 |10/ K Bt ERREFEN HY (BETIEAEW) 7H10H HY (B - REMEKLL9) 7L
41874  |404% Bk ZRREFEN HY (BETEARL) 7R12H HY (HE - REMERLL) SHE
41875 [304% i EAREFAEN HY (BETIEAEW) 7H12H HY (B - REMEKLL9) E=yan—|
41876 [304% Bk ZRREFEN HY (BETIEARL) 7R12H HY (BB - REMERII) SHE
41877 |30% 7k ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) %L
41878 |10m%Ri |tk ZRREREN HY (BETIEARL) 7R13H HY (HE - REMERLLI) L
41879 |401% 7k ERRBAEN HY (BETIEAWL) 7A11H HY (HF - REMEKLL9) BilzN: g =]
41880 |10m%Ri | %t ZRREREN HY (BETIEARL) 7R12H HY (HE - REMERLLI) L
41881 |104% 7k ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) %L
41882 |10m%Ri |t ZRREREN HY (BETIEARL) 7R12H HY (HE - REMERLLI) L
41883 |104% 7k ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) %L
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41884 |10m A |ZE ERRBAEN HY (BETIEAEWL) 7A13H HY (HF - REMEKLL9) %L
41885 |104% 7 ERREMEN HY (BETEEW) 7H13H HY (B - REMEXL59) 5L
41886 |10 ki Bt ERREFEN HY (BETIEAEW) 7H12H HY (B - REMEKLL9) 7L
41887 |10/ | B ERREMEAN HY (BETEEW) 7H13H HY (B - REMEKRL59) 5L
41888 |401% S ERRBAEN HY (BETIEAWL) 7A11H - E=yan=|
41889 |2014% S =a™ HY (BETEEW) 7H13H - E=gan=|
41890 |10f% S EHREMERN HY (BETIEAWL) 7A13H HY) 5L
41891 |604% S EHREMEAN HY (BETEEW) 7H12H - 5L
41892 [60f% 7k EHREMERN HY (BETIEAWL) 7A11H HY) 5L
41893 |401% 7 EhHREMEN HY (BETEEW) 7H12H HY) SifzNi9=]
41894 [601% S EHREMERN HY (BETIEAWL) 7A13H - 2HEE
41895 |10/ | B EHREMEAN HY (BETEEW) 7H14H - 5L
41896 |401% 7k ARREFIEA HY (BETIEAWL) 7A12H HY BilzN: =]
41897 |604% 7 ARREEN HY (BETEEW) 7H11H HY) BEX
41898 |201% S ARREFIEA HY (BETIEAWL) 7A11H - Eyan=|
41899 |604% S ARE™ HY (BETEEW) 7H12H - E=gan=|
41900 |30f% oy B (ABRRBAEN) HY (BETIEAWL) 7128 - N3]
41901 [104% pog AFETH HY (BETIEARL) 7R12H HY (F#163) B L
41902 |10m A |Z1E FEEFET HY (BETIEAWL) 7A12H HY (F#166) 7L
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41903 |10f% 7k AFTH HY (BETIEAWL) 78128 - L
41904 |404% og ATEIRBEFTE N HY (BETEARL) 7R12H Y E=vad=|
41905 [104% pog AFETH HY (BETIEARL) 7R128 HlY) (F1163) L
41906  |504% og AZEH SRR 7R13H HY (F1#163) SHE
41907 [60f% 7k ARREFIEA HY (BETIEAWL) 7A13H - W= A< —
41908 |10F%RiH |t FEBFET HY (BETIEARL) 7R13H - L
41909 |10f4% S ARREFIEA HY (BETIEAWL) 7128 HY) 5L
41910 |604% B ATEIRBEFTE N HY (BETIEARL) 7TH9R Y E=vad=|
41911  |40% S ARREFIEA HY (BETIEAWL) 7A13H HY Eyan=|
41912 [304% B AZEH HY (BETEARL) 7R12H - NS
41913  |10m A0 |Z1E ARREFIEA HY (BETIEAWL) 7148 HY) L
41914  [504% og ATEIRBEFTE N HY (BETIEARL) 7R13H Y EilzN=3=}
41915 |10m A0 |Z1E ARREFIEA HY (BETIEAWL) 7A13H - L
41916  |404% B ATEIRBEFTE N HY (BETIEARL) 7R13H Y E=van=|
41917 |80f% S ARREFIEA HY (BETIEAWL) 7A13H - L
41918 [104% B ATEIRBEFTE N HY (BETIEARL) 7R13H HY (F1166) B L
41919 |404% i vl HY (BETIEAWL) 7A11H HY) 5L
41920 [204% pog —FREFTERN HY (BETIEARWL) 7R12H - E=vag=|
41921 |704% SE vl HY (BETIEAWL) 7A13H - L
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41922 |10m A |Z 1% B ET HY (BETIEAWL) 7148 - L
41923 |10m%kiH | B —Fm HY (BETIEARL) 7R13H HY L
41924 |204% 7k —Fm HY (BETIEAWL) 7A13H HY) 5L
41925 [504% og “FREFERN HY (BETIEARL) 7R12H Y E=vad=|
41926 |201% S —Fm HY (BETIEAEW) 7A12H - E=yan=|
41927 |504% og “FREFERN SRR 7A14H &Y E=van=|
41928 [50f% S “FREFFEA HY (BETIEAEW) 7A13H HY Eyan=|
41929 [104% og —FH HY (BETIEARL) 7R12H HY AL
41930 [60f% 7k “FREFFEA HY (BETIEAEW) 7A13H - Sz =]
41931 [304% B 2 S HY (BETIEARWL) 7A8H ) E=vad=|
41932 |40% S “FREFFEA HY (BETIEAWL) 7A13H - Sz =]
41933 [304% B 2 S HY (BETIEARWL) 7R14H Y EilzN=3=}
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